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1 Nda AR cimuREfcpii uRBalda s2a1 w2 1 Nda welloll ciMuRIcl saA1 NGl A5l 32 ud
8. sai A A ouricl icenallo] BRI Hea @ B.

1 diet A2 crsuRd 3uid sar w2 sl e Qo %33 Ui § ied wAlReiasl susuia- Guy
A8 5. wulz well-l sumiaq Guig yed auiz 8. i Hedid 1A el vy s3I uasy
(AH)) well > (AH,) @Rzl

A argot Gizerii AH = 0 il 8. ocig updmi 6 argyilel Asoilvmi wrer 2:a@Ra ulzan 8 5
olé ?

6L quyaii-l 2iselloani eoall Bai AH = 0 o1 9. 212l 21 iR uEal séaiy sien 3 w0 ge-uyi Glod
a2 wiadl l. ud eqq22l (randomness)di AW UM 9. H2A AL UsHA Bi3U Gl 9.

valazeidll icenalledl aend uencloll icenailoll €21s1 iR 8. wu? uendl Gwila Addol Und 52 AR
uendl ol uaAlaRelsi dreiel Wil &A ?
Sl 21z Go{ly iga- uid 29 iz ueuel A ualazerd diusi A3 249,

1 Ma F2dl As uHiedla veA drRgell opjell ASIA USH ERUCL WAREL el ASRAI Jioleid B. (Yl
dugla) w2 Asla ulGa e AHel 3eu 2 &2 ?

eoliel—>

SE—>

Asl usH H2 ga Al iz AH = 0 (uglu)

s8L & el 3z Ruldl 38R 9.

adl AH « Hed = gy eil.

H,0(Dell wiftia e il 70 JK! Aa! 8. Hy0 ) ell wiftia a2 Aeghile] yca 70 JK! ! s2di
ag 3 gy & ?

H,0,l sl slaz agidld yed 70 JKL slla! &, wisll 4 2a3l rsui wRaldd sy 8. a4
Ul 2l seqal nawdl 2a3u sl well o il @d . wudl Hy0 laz A=l < vaidl
wielldl Hiaz 2zl wel(s)l wiEa diaz sl yen 70 TKL dia ! sl >y 8.

RAlalada (state function) i ualdda (Path function) oilAcurMuil 200l Gicial :

Jicaall, Acgndl, Gwil, drdiel, sif iad ysda alsa.

[Rilalabuni yed nandll we Rl (State) Guz 2wz uvl 9. udg wlEu ua (d 3dl da qaan §.) Guz

12 WAl Al eld., deenall, stegidl, diusid oid ylsalsa, ualabia (Path function)«i Hedl UsH-l
o0 BUT w0 B, sld., WL 2 s (W),

ANcicll Ma2 cimils:er a\loeueilo\i; Heu well s2di Y B, en e ?
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11.

I3
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12.

w5 Hld ULl 220 dluHid 24 HHUB oSl (1 bar) ewsudl ulRad s2al w2 %39l Gwy oA
oLy edly Guy (AmpHO) sé . uelldl nHiBd Hiax oumlledndsd yed 2R2A sl quR 8§ s
% H,O-L 294l ueia H-ol4 iRecd vud 8.

101l (isolated) uwendloi s€ [cRad Miapii R &lA AR JidRs Alsdcl FSRel Nl S,

Mol neuelHi Goi 2a3l alsad ded ag Al #12d g = 0 211 51 230 e alsa uRaldd adl a2l sied
w =0 24, Glazedl uaH Had WMl AU =g+ w AU =0+0=0

N As uGa H2 Vicenal 325R oAl suglai eall 8. ot naR UGAlel MRa dpeEn! oissl
ad as ?

{lues

an

AH, walaasi
Al s@ Glod

o —>

T

ulFusl

s x2e —>
Al @lRd UGB M vienedl s gaeiez UWReM © d WE. uig v ¢l ddi il Far uReell ust
daHl ddl AL

100°C driial sial 1 cir eoud 18 vt HyOci yel cimuriol 21 8. 1 ulsn el vicenall Gedui
g2k 40.79 5. va Na! arr 8. wellon 2 Hldoi a0 uRRAlcHi cirulRRAlcHi uiaR sai Jicenail
SS12 Sedl 22 ? weildl wid oiruRIct eﬁceuc-tilo\i, el S2d & ?

wigll-dl o2ell = 180 A+ i sougl 1 s 69,

18.0 2 well = 1 Hia well.

usHdl 1 Ml sauedl s e 40.79 o g !
2 Mia wella euwpiad, el Al 33

=2 x 40.79 = 81.358 [5. %a Hig!

100°C dluHid v 1 iR gell®l UHIBd elsuiad senedld yed (A, HY = + 40.79 oo Hia 1 2.

vap

Aol vicenallo] wildra ueder vicenail yea AfHO a3 el 8. ¥ [@ARre uRRAPH uBa dicenall a3

sl B, «ilAcll uSapiil A HO 10 AfHO oi YRI Wllel &A 3 clld@ ? dMRI Yael W SREL VML,
CaO, + CO,g — CaCOy); AHO = -178.3 B.oga Aa!

Gur safda w2 AHO 4 3w AfHO wod -el.

MBI senedl $351 s Hld uesll d-l el gzl ddl dediidl Faie wd e adl wA-ened] sz
UMIBIA o Miar sienedl sda o, d-dl s AfHO 9,

a WL 2itd uEAL sl gl ul ©.

w24 5 A« AHO

vicanadl upuais dpeed] B, win uBa A > B 8 ud Ad viewall yea (AH) 8. u uBa sen

AGISSIRANMHE AL B, Ui €3S dGISSIc] Jicenail uel AH;, AH, AH,. 8. ulbacl dazel oluy B 8.
A Ralaxi AH 2 AH), AH,, AH,. @d aaouoell e dol icia s & ?



o UEUL M delsSIHL A 5 Bs skl Ay detssiHl i odl dde-l uBal o sienedl 33512 ™g e 9.

oy UENL A o B el $s1ReL Hedl awl ol % deissidl uBui senadl edl (AH, + AH,,
AH )AL AR Aoz w3l Med 5 AH = AH + A H, + AHy +o. A1HrY A4y 312 Sl B3t Asel
[Huad 1A Yoo dxew wsy

AH
i >
A
A AH,
A
Ay > [D]
13. CH4(g) - C(g) + 4H ulZan w2 uHiedly ?J\icall(-'lﬂg; uel 1665 (5.9d Na! 8. (C-H) ciadl ciaBled
sedl & ?
o [BAA (CHYUL AR (C-H) ot 8. 1 Hida CH, wedl ususdl si=nefld yed »led 2z (C-H) oiug,
(Ao
B G 1665 [5.%4
(C-H) elalsa ulada = — ==

= 416.25 [5.%a Hia !
m (C—H)l siy seened]l — HaAAuD AR (C-H) it 8. dxsll God s eludonsd aHi4 8. uig s ull »is
WY sHIA ol 42 AR orl st Glod A Sldl Al 2wl (C-H) elu-dl azua sieialdl Gudicl sd=

gl 22d 5 (C-H)HL oiu daadl (ladla) = A HO = %(AaHO)

14.  Guu, veudlell dciaari daRl 52 8. dieticicll gl uendli 2&8al selell 2121 2la ciald d. sulGidla
Wilsel a3 ser uRciol Ascil 1A Sdl A icilfid 9 A el

AS = Grev
Tl

1y
wul, AS = a2l 3w
Gy = Waadl Uil Gun

T = dluHiA
15. 298 K diudial N204(g) = 2N02(g) ulsan w2 KPOJ; 1 0.98 3. Jn ulda xARd &A $ ollé Aol

U8l s2.

- NyO, = 2NOy, K, = 0.98

2(g
2u8L ellat Wlal & AfGO = - 2.303 RT log K,

K,=098ed, K, <1 AGY = (+)

ate]l 2adey ulFuL aq Ak,
16. ?dad WA AG ua A GO uiell S @ 2YcA A ?
o g UfEmnl WU v luad sl did dl A GO A4 uBusl ysauls sdaud §. dgadt »aais wa
Al Yot el wud B
AG =AGY+RT In K
0=AGY+RT InK
AGY= - RT In K

AGl= 0 (2% K = 1 €ly)
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18.
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21.

el K, AGYAL Hedl gu Hoal Ale.

Glalasi argell wReIAl ‘Usd wRE’ 58 8. AR e driel wianil uldadl el 1 [(Geuidl 5 (@G22
Rl AR 2Ad skRl Jad JyidBREs 2fsded Ss1R 210l

(MRalddi aly a3 sda s
W = P, (V,-V)). S8l gsel = 0 .
ww = -0 (5-1) = 0. el gl 2ialRs Gl el diudi Gu sz e 9. el suesdl diys aHdidl
uldadl nza »idals Glod »an @ &,
Med 3 AU = 0.
MoUE AMG AW 5 H=U + PV
AH = A (U + PV) = AU + PAV
= AU + AR (AT) (uanfl ufu we)

AT=0.AU=0.. AH=0
Guugpiar (C,) upucis Jeier] &@rid d. udd [ARre Gwu (C) [ARre dpeeni (Intensive property) @rid
9. (Cp) Jad C aA 1 Aa H,0 (weil) e zicier s & ?

el Wiz uedly GewiaHdl,

Cp = 18 x [&afire Gwy ()

©

C=4187g1 K1 (well we)

18 x C ([alre Gwy)

oo el Cp =18 x 418 Tk'! mol!

= 75.3 Tk mol™!
Cp el C, aRell astad weras (Empirical) wtel Gualdl sélad dardl asia 8. i icia
H=U +PV 8. 10 3a neel ary a2 Cp Ja C, aRAcll dslad el

Cp = AU LOUGL BWHIAHAL -

C, = 20 st Gwuaddl (C) &.
C, » C, a¥idl dsiad iy »qis R 32dl 8.
. C,— C, = nR (n = Haiw)
=10 x 4.184 ]
= 41.84 ]

A 1.0 apt dlisiec] €&ot 20.7 B.yd 6ol Buoot S Al Aol iedla vicawedl 3sR 32l & ?
ailsei duiddl Rigolloll Gl wiovdl.

mdl 1 sigmdedl eed Gwid Hew = 20.7 [Boga !
dstiendl eenul udl sugdly »-enedl 33812 = AH = 1g dsidedl sed sinedl x suedly eu
w AH = - 20.7 k] g1 x 12 g Hla'l
AH = - 2.48 x 102 kJ mol !
AH+ () yed sufd 8 3 ufba Gwudus .
ulZael sa vicanall 3251k uBASlcl oien « oig disapii qudl Qi VA clluvoll cien & oidl Giedoll
AVl M2 ¥F] Bldoll dslaa Fedl &la B. IsHi B.O. (ul5as1) - B.O. (eiluw).
cllAell ufsan Hy + Bryg — 2HBr(,
H2 Vicenall 3251 del.
sna H,dll cigeifsa = 435 kJ mol!
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22.

I3

23.
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24,
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Br,dll cigeifsa = 192 kJ mol!
HBrell cici2ifsa = 368 kJ mol™!
uBAS) VA olluN argRRALP AA AR Jicaail F2sR delal MR ofldont wilsered GuAdL SA.
AHO = 3 uBasidl cigfsa - T ofluiedl cigeifsa
H,l slualt = 435 kJ mol™! »aa (5.4 Hial
Br,Al siualst = 192 kJ mol !
HBr+{l sinalst = 368 kJ mol™!
ulsu Hy + Bryg — 2HBr,
AHY = T ulBusidl oinGlef — T dlusg-l il
= BE(H,) + BE(Br,) - 2BE(HBr)
=435 + 192 - {2 x 368) k] mol™!
= -109 kJ mol!
CClyofl oiruriel dicenailsf sea 30.5 kJ mol™! 8. vrun eoud 284 2 CClyof owvwii uRadet s2ar w2
%33 Guudll a1l sA. [CCl, = 154 g. mol!]
CClLAlL 25 Hid = 154 ¢
AgpHl 154 g CCly 2 = 30.5 kJ

30.5 x 284
154

olRotl 2vils2el 2 2H, + O,y — 2H,0( ¢ AHO = 572 kJ mol™! 8. H)0 (uaiél well u2)

wiiftia A% Buile 31 32d & ?

)+O

Aygpll 284 g CCly e = = 56.25K]

wHlsel 2H , = 2H,0, AjH" = -572 kJ mol™!

2(g 2(g
Ao wied] c s Mle AElH del Hes dradldidl oA R @il $:513A 1A slenedl e 6.

1 0

z 2
HZ(g) + 3 OZ(g) - Hzo(l) AHY =7
siiel adlszed 2 ol epsiane] aaiel a9,

572.0 k] mol™

A HYH,0) = 5

= - 286 kJ mol!
sueed ary Guz ouEl eotel deRdi AAd RisSRId (a1 €241 2Ad sRic 2r1adl Sdl dd s2el ? (N eonerii
adl 3SR Vleid dcissRAL Aell adg & dl)

Ay AsAA ool AU WA eid cossizil Y 2ng ardl Gl wlaadl wEa o4 . % ada s P
— VAL 2 a3 el s3 Haa $. (ol 2udn). susni 2uxnld Radiz ey Guz qdd s sald

-

9.
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26.
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Vi v— Vg
Ralaalsa (Potential energy) dicenali adl 32%R ool 2uAut a3 eaild.
(@) uRRcll g55ia cilARil Burcll B Guz F3).

1 1 N 0 -1
(b) 5 Hyy + 5 Clyy = HCl, AHO - 92.32 1J Qe

sa1 usHoll vicAall 322SR aRio] uGaRAlcl Ricelki i) el e1vd B ?

(@) <2l usHiHl Raffled (ienedl) 38R salal &

| ol awd (ilulg)
. YL 2540
Gl el Glad
o [H-fl mwidl
oy fctetef] sidz (afs [Gg)
(b) %HZ(g) + % Clyrg === HCligy A/’ = -92.32 kJ mol!
ul3us (i H, + 1 Clz)
2 2
HOR)p == memmmmmm e memmeeeae
'[ AH = HO(P) - HO(R)
B
&
HO(P}.......--.....V. .............
{luz (HCI)
uldul »ia

(@) UsHHl Glal a4l 9 = (b) 4l w2, 20l usH (b) Hi t=enedl sz 2oy bl ulBRfRElaxl Hel suo
SEEIRLN

As uAedla vued arlen 1 Ha Fear vr2uci doisst (1)4iRll doissi (2)4i wrel arl 8. (Y ugld) u
wnRel BRI 2Adl skidl deiddl s3.

_ Rl (1)

= (o) =

2 (2)

22.7
VL) —
Guz ealda »islani w2y o % el Ay UAQL Bdd deissizil 3l vuoo af 9. sudl d sl uladf
upel (2ieal Ay HIZ) séald 9. FHL 298 K diuMid 2.0 dldlazel ssie Guzel 1 dldiael selel yHldl 3381
Y 6.

3l
w = — 2.303 nRT log P,

- P2
ww =-2303 x 1 414 x 8314 Jk mol-! x 298 K log 2 ( P—l = TJ
2



wwo=-2303 x 1 x 8.314 x 298 x 0.3010 ]

. w o= — 1717.46 %4

27. vueed arlell RS o dGIsSIcll UAReL SREBMI 2 cir eoudl 10 [Geuiedl 50 (G2 se Al wRel 2w . Ay
a3 2Ad skl deiddl sA. il ¥ USRll uABRHE WRel [Fa1 uldadl A ad Qla dl 2Ad sl J1u6el
$BR Sdi a4y S €2 ? (1L bar = 100 J)

o ugdl (1) doissiMl wAN etgsena [A¢ dlyd uma A dl,
W=~-p,, (V, -V]) =-2012 x (50 - 10) [a.
= - 80 [&. oz
— 80 x 100 wd (1 [&. suz = 100 %4)

- 8 Sl.ya

m o nldadl Ad vuta uaze uRadl A ug S dl 235 doetsd Ay 2idlRs seum oua senw s3dioay sig
A, vl wda sl UM aMR sl

28. NH; xR AfHOoj; 3yl -91.8 B.ya Na! 8. oAl uEa w2 Jicenail 32512 210,

2NHy(y) — Ny + 3Hyy
[l 1 3 0 _ e
w5 Ny(@)+ 5 Hyp = NHgpy+ AHY = -91.8 (5.9 Ml

m  AH? =1 Hid NHyl % Gou
2 Hld NHgW 2% 2 s-enedl 33812
Nyg + 3Haig — 2NHyg
AHO =2 x (91.8) = - 183.6 B.oa Hia~l
ulaaul ulsu w2 :
2NHg — Ny + 3Hyq,
P |
AH? = +183.6 [5.94 et
il AHO (NHp) w2 + 1836 [5.9@ ! il
29.  ofldcll fEdlod GuaA1 5AA NaBrell Ay, HO omedl. Na engeil A Qeuater) H® = 1084 B. va
Wa! 8. Nadll suadilser Jicenall = 496 B. va MNa™! B. Brell sdsgioa wlfd Jicmeils yea

= -325 . o¥a MNa! 3. clficell ciar [eea icnall = 192 B. wa Na! 3. AfH0 (NaBr, #R)
=-360.1 B. wa MNal 8.

- A ,HY (Na g wue) = 108.4 Byga Hia!
LE. (Na) = 496 [5.9a Hlal
AggH® (Br H12) = — 325 (5.9 *llat!
Afyiigecdiss) H° (Br ®i2) = 192 (5.9 i !
AfHO (NaBr w2} = — 360.1 (5.9a sial e,

NaBr ddiw-idl Mo s old-e63 254l Gudiol ad as ¢,

1 -1
Na(g) oeeeerreecer + 5Bryg | A H’ =-360.1kJ mol



NaBr

-1 -1
b Aap HO=1084KTmol |, Ay, HO = 192/2 kJ mol

Nag, B Br, 1

|, IE =496 kJ mol b AgH'=-325k  mol
R _

Na (g) Br(g)

— U {aly wi-ened)

o duAL [(AUHAL Gudla szl

0 _ 0 0 0
A = A HO TE + Ay HO + A HO + U

=—360.1 = 108.4 + 496 + 96 + (-325) - U

U=+ 735.5 [5.%4 wia!
30. 9 S ‘Gw’ valdda (Path function) 8 ©di uendl a3 20uRdl Guu S2dls [ARre uRR3AA il
adiRll $sRell Ml adn 8. uu uRRAl sd & ? ANMAL

ol yR[AAUL R 53811 Wl Gur sulRd Al
(i) 4 58 AN W AR
(i) P BSUR MAN T AR
drygdl ¢ (1) @0 58, Guiailfeneidl uayd [Fas ue AU = g + W sgdl g = AU - W,
uig W = PAV
s g = AU + PAV Uig seui 33812 adi -l
AV = 0
g, = AY, uig AU Raff@ay .
sl g, wa RalRh 6.
(i) 29 soudl g, = AU + AV
uig AH = AU + PAV
Ny = AH.
AH (A [afe . »udl g, we RafE on .

31.  wueed aryal As RilGosi adal Aol Buz Add cneeoiel aandl AsRc s2di el ary Guz 2Aa sil

sgell. p, A As ¥ doissti dugldi el B. uAuicll ueeadl winal

MR E Ay s 58 Ve il RlA-sHl Auyd s@ BBl p S Add SURIEOURL (P, )7 S % dowssiH @l
ayg Bazg 58 Veord . dell semi 5381 AV = Vp- V; fretll Gur-~lla gall ulbu el afa s



W eld dl,
W = Py EAV)
W =P (Vf - V)

]l @il P Vosudw al s ad o,
AWl dsia [Bdiz (shaded part)
[Bedlz = ada sid suld o,

(BRI = Py (Ve= V) = Py, AV

B

e

(eiz = p,,, (V,-V)
=

/ = pex.' AV

p ext

A\

V;
vV —>

<

m o) gl Wo(s)Hl @ () sl Meulasod §. % (+) dsML 3Uid uEl 518 5 AyHlL seHD seusid
el watsl adl weunell Guz s mal, 2uel, AV = (-)



